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Note : This paper is of eighty (80) marks containing three
(03) Sections A, B and C. Learners are required to
attempt the questions contained in these Sections
according to the detailed instructions given therein.

AlC 0 UE U UF T (80) 3l T ® W fF (03) WUSK
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guel # Ry MU e el & oraR &yl &
ST o B

Section-A / GVs—d

(Long Answer Type Questions) / (€T SR 7%)

Note : Section ‘A’ contains four (04) long answer type
questions of nineteen (19) marks each. Learners are
required to answer two (02) questions only.
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A @rs P H AR (04) < I wE 7
TAe WH @ folv SN (19) o fEiRT g
el &1 37H | dad I (02) WAl & SR o
gl

1. What do you understand by Urban Hierarchy ? What

are the basic determinants of urban hierarchy ?
Explain.

TRIT URIHA MY 1 GAEK & 2 TR YaThA
& UG - € ? Rl BT |

2. Give a detailed description of Walter Christaller’s
Central Place Theory.

qleey fheloR & Bl Wi Rigrd & 9fdwr
IIRET I bIoTY |

3. Give a detailed account on city of Chandigarh as the
most beautiful and the first planned city of modern
India.

Y IR & TSl FHRING TR U6 9a9 Fax TR
UENTE W TS fIRgd a0 IR DI |
4. Write a detailed note on urban problems in India.
RA B TRIY TRl R U6 g o foakay |
Section-B / Yvs—Y

(Short Answer Type Questions) / (79 ITRIT U%)

Note : Section ‘B’ contains eight (08) short answer type
questions of eight (08) marks each. Learners are
required to answer four (04) questions only.
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dlc . @ue @ H IS (08) @Y SR W fd W 2
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gl

1. Write a note on traffic and transportation problem in

urban areas in India along with their solutions.

R H TR & ¥ URaE Td A @ Al
qT S0 T R U6 femell fafag |

2. Write a note on cyber crime. What are the remedies for
this problem ?
AR IRY R UE el foafav| 3@ W @
TR 7 & ?

3. What are the reasons of urban slums ? Discuss here
their solution.

TR T GRAAl & T RO & ? I GHEN bl
T BT |
4. Provide the functional classification of Indian cities.

RAR TRI &1 BRSO GRd DIforg |

5. Write a note on primate city.

TRIHe TR W U6 fewofl faRqu |

6. Write a note on satellite town. Provide with sketch.
SPUE TR W Ue fewdh oy ez o
o 3IQI
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Shed some light on characteristics and problems of
urban fringe.

TR ST @l faovarel Ud gEel R Uerd
SIfery |

Briefly describe CBD (Central Business District) and
its characteristics.

T AaAId &7 (A 41 S) Jor Sae faeryamen
Pl T WY W AR BIVTY |

Section—-C / ues—T[
(Objective Type Questions) / (A&ITS )

Note : Section ‘C’ contains ten (10) objective type

1.

questions of one (01) mark each. All the questions
of this Section are compulsory.

gus T H g9 (10) TS WA [ W 2| IS
Y @ forv ue (01) oiF FeiRa 2 @ wve @
T oo arfear € |

At present, which city is the biggest city in the world ?

A T H fava H e 997 IR DIH-41 § 7

In which city was established the first port in India
during British period ?

fafesr oret § YR @ fod TR # gl §SE 991
T o7 ?

To which river valley civilization does Babylon
belong ?

JaTele TR b ST g1 9T ¥ gHRIa g ?
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Who propounded the concept of primate city ?

WIS TR B GheddT fdha o ?

Indicate whether the following statements are True or False :

g ifsre fov f=feiRad ded v & a1 oy

5.

10.

The most important basis of classification of cities in
urban functions. (True/False)

TRl & G0 F1 a4 FBeaqol AR TRT S
gl (T / srac)

Kandhla is not an example of port city.  (True/False)
DIETAT IEIE TR F SRV Tel g1 (T /399)

Nashik is the cultural capital of India. (True/False)

RIG MR 3 ARGAS o &) (T /39)

Micron is the measurement of Noise Pollution.
(True/False)

Y Y BT AZHH H AU AT 2| (T /)

Public transport may become a good solution to the
problem of traffic and transportation in cities.
(True/False)

TR @I I TG URaE @ TEIRH B 37T
Rati 1131 eIl 1ol | v 1 G i e ) M M B s
g (AT / 3rc)

The city having a population of more than ten lakh is
callegorised as Metro city. (True/False)

fOTRT TR &7 ST 10 oG F 3fdd § S AR
o7 Aofl & 3T o1 2 | (A / )
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